AIMS AGILE

FACTORY AUTOMATION
AIMS AGILE FACTORY AUTOMATION SDN BHD

MAPS

Modular Aluminium Profile



wong
Rectangle

wong
Rectangle

wong
Rectangle

wong
Rectangle


CONTENTS

( "\ ALUMINIUM PROFILE

e Page 01 — Page 07

| § J
4 "\ JOINT & CONNECTOR

e Page 08 — Page 10

GUSSET ELEMENT

e Page 11 — Pages 15

SLOT NUTS

e Page 16 — Pages 20




PANEL HINGES &
ACCESORIES

e Page 21 —Pages 26

PROFILE COVER

o Page 27— Page 29

FOOT MOUNT

e Page 30— Page 31

AUTO CASTOR WHEEL

e Page 32— Page 37




MAPS PROFILE SYSTEM
APPLICATION EXAMPLE




MAPS PROFILE SYSTEM
APPLICATION EXAMPLE




MAPS

Aluminium Profiles

© PROFILE 20 x 20

20

1 Material: Aluminium (6063-T5)
Weight:  0.455 kg/m
- - Length: 6m
‘ ‘ Mass Of Inertia: ~ Ix 0.71 cm?
ly 0.71 cm4

Section Modulus: ~ Zx 0.71 cm3
Zy 0.71 cm3

E_/) Order No : PS20-AA20x20-6

20

0]

© PROFILE 20 x 40

40

620 Material: Aluminium (6063-T5)
Weight: 0.808 kg/m

v Length: 6m
\-[\ ‘ Mass Of Inertia: ~ Ix 1.2 cm%

ly 4.5 cm4

20

Section Modulus:  Zx 1.2 cm3

Zy 2.2 cm3
1.80 \RZ.5

.10 20
Order No : PS20-AA20x40-6

AN

© PROFILE 30 x 30

Material: Aluminium (6063-T5)

— 30 ——

—— 23 —| Weight:  0.939 kg/m
< 165 Length: 6m
8.2
a Mass Of Inertia: Ix 3.3 cm?
1 ly 3.3 cm4
7

k-9.2

. N
9 / Co 33 ) . 3
/—lLr Section Modulus : Zx 2.2cm
3
D 667 Zy 2.2cm
Order No : PS30-AA30x30-8
O O )|

I




MAPS

Aluminium Profiles

© PROFILE 30 x 60

Material: Aluminium (6063-T5)
Weight:  1.679 kg/m
Length: 6m

Mass Of Inertia:  Ix 6.1 cm?
ly 23.3 cm4

-l e 2.2

9.2

032 Section Modulus:  Zx 4.1 cm3
Zy 7.8 cm3

Order No : PS30-AA30x60-8

© LIGHT DUTY PROFILE 40 x 40

Material: Aluminium (6063-T5)
Weight:  1.455 kg/m
Length: 6m

Mass Of Inertia: Ix 8.2 cm?
ly 8.2 cm4

« 12.3 -

Section Modulus:  Zx 4.1 cm3
Zy 4.1 cm3

Order No : PS40-AA40x40L-8

© PROFILE 40 x 40

Material: Aluminium (6063-T5)
« 40 —> Weight:  1.862 kg/m
SN Length: 6m

— 205 — Mass Of Inertia: Ix 9.9 cm?
‘ ly 9.9 cm4

l
T
L 45

Section Modulus: ~ Zx 4.9 cm3
Zy 4.9 cm3

G
)€

Order No : PS40-AA40x40-8

40
IS
o
3

O o

R4.5




MAPS

Aluminium Profiles

© T-SLOTTED PROFILE 40 x 40

or 90

© T-SLOTTED PROFILE 40 x 40

Material: Aluminium (6063-T5)
Weight:  1.754 kg/m
Length: 6m

Order No : PS40-AA40x40-E1

- 1235 -

© PROFILE 40x 40mm, HALF ROUND

o9
&
15

- 83 -

20.5

40

Material: Aluminium (6063-T5)
Weight:  1.80 kg/m
Length: 6m

Order No : PS40-AA40x40-E2

Material: Aluminium (6063-T5)
Weight:  1.476 kg/m
Length: 6m

Order No : PS40-AA40x40CR-8



MAPS

Aluminium Profiles

© LIGHT PROFILE 40 x 80

© PROFILE 40 x 80

Material: Aluminium (6063-T5)
Weight:  2.33 kg/m
Length: 6m

Order No : PS40-AA40x80L-8

80

70

« 205
L82 :)I

l-4.5

40
|._ 30 ——f

© PROFILE 80 x 80

Material:  Aluminium (6063-T5)
Weight:  3.35 kg/m

Length: 6m

Mass Of Inertia: Ix 19.1 cm?
ly 73.7cm4

Section Modulus:  Zx 9.5 cm3
Zy 18.4 cm3

Order No : PS40-AA40x80-8

N

Material: Aluminium (6063-T5)
Weight:  5.36 kg/m
Length: 6m

Mass Of Inertia:  Ix 137.2 cm#
ly 137.2 cm4

Section Modulus: ~ Zx 34.3 cm3
Zy 34.3 cm3

Order No : PS80-AA80x80-8



MAPS

Aluminium Profiles

© T SLOTTED PROFILE 40x80 E2

80 Material: Aluminium (6063-T5)
- 12301 Weight:  3.401 kg/m
Length: 6m
J :
N

@ D/ |

450  Order No: PS40-AA40x80-E2
© T SLOTTED PROFILE 40x80 E3
Material: Aluminium (6063-T5)
80

20.50
40

4.50

Weight:  3.429 kg/m
Length: 6m

Order No : PS40-AA40x80-E3



MAPS

Aluminium Profiles

© LIGHT DUTY PROFILE 45 x 45

Material: Aluminium (6063-T5)

21.90 Weight: 1.835 kg/m
1020 Length: 6m
Mass Of Inertia: Ix 14.4 cm#

ly 14.4 cm4

2
]
E‘_ﬁu )

Section Modulus:  Zx 4.6 cm3
Zy 4.6 cm3

45

Order No : PS45-AA45x45L-10

© PROFILE 45 x 45

Material:  Aluminium (6063-T5)
Weight:  2.205 kg/m

Length: 6m
[<— 216 —> Mass Of Inertia: Ix 14.4 cm?
102 |e— ly 14.3 cm4
L ,
(7 N Section Modulus: Zx 6.3 cm
E T § Zy 6.3 cm3
N L1
0 Order No : PS45-AA45x45-10
Qe
5
SNR25
© PROFILE 45 x 60
60
Material: Aluminium (6063-T5)
c 216 o Weight:  2.584 kg/m
Length: 6 m
el 102 t ‘i L Mass Of Inertia: Ix 16.6 cm?
j ml <
2 |
|_n_r T Section Modulus: Zx 7.3 cm3
Zy 9.8 cm3
9
Order No : PS45-AA45x60-10
AL <—
®102 R2s

P16




MAPS

Aluminium Profiles

© PROFILE 45 x 90

%
216
102
S
hd <
% £
T
@ %
G| S el
45 $10.2
®16

Material: Aluminium (6063-T5)
Weight:  4.023 kg/m
Length: 6m

Mass Of Inertia:  Ix 29.1 cm#
ly 110.9 cm4

Section Modulus: ~ Zx 12.9 cm3
Zy 24.9 cm3

Order No : PS45-AA45x90-10

4nm
8
;

C;
)

60

{Pﬁ}@
¢16/§%ﬂ‘\?

s

© PROFILE 90 x 90

Material: Aluminium (6063-T5)
Weight:  3.946 kg/m
Length: 6m

Mass Of Inertia: Ix 47.7 cm?
ly 47.7 cm4

Section Modulus: ~ Zx 15.9 cm3
Zy 15.9 cm3

Order No : PS60-AAG60x60-10

124

|

Material: Aluminium (6063-T5)
Weight:  6.15 kg/m
Length: 6m

Mass Of Inertia:  Ix 198.6 cm#
ly 198.6 cm4

Section Modulus: ~ Zx 44.1 cm3
Zy 44.1 cm3

Order No : PS90-AA90x90-10



MAPS

Accessories

© SENSOR RAIL

Material: Aluminium

Weight: 136g

Standard Length:  2.5m

To be used for mounting sensor.

Order No. PS-SENSOR RAIL



MAPS

Accessories

© STANDARD FASTENING JOINT M8

Material: Zinc Plated Steel
Weight:  10g, 11g

Used with button head screw M8x20. For
simple, right angled and power-lock connection
used for PS30 series profile.

g 1w
\ Used with button head screw M8x20. For

simple, right angled and power-lock connection
used for PS80 series profile.

Order No. PS30-SFJ8-8
PS40-SFJ8-8

10.50 13.8
PS30-SFJ8-8 PS40-SFJ8-8

© UNIVERSAL JOINT M8

Material: Zinc Plated Steel
Weight: 249

|
15.8

Suitable for profiles which need to be moved
subsquently.

Used with socket cap screw M8x30 and half
round nut PS40-HRN8-8 for PS40 and PS80
series profiles.

Al e
_|_____
iy
19.8

33

| Used with socket cap screw M8x30 and half
U round nut PS45-HRN8-10 for PS45, PS60 and
' PS90 series profiles.

Order No. PS40-UJ8-8




MAPS

Accessories

© UNIVERSAL CONNECTOR

b =

Universal Connector
Description:
. For fastening profile 40X40 and 40X80.
For fastening profile 45X45 and 45X90.
e  Particularly useful for subsequent
mounting profiles to already existing
frames.
. For a profile connection that is stable
and can also be repositioned

Material: Zinc plated steel

Part Number C D

PS40-UC40-8 25.2 40

PS40-UC80-8 65.7 80

N PS45-UC90-10 75.7 90
u&

— |
Q/QL
<
©
)
3{_ AR,

g— C —
D
— -—
P
po L O
O
ﬂ- L'A’)
-
414>
PS45:
] ] o 0
Y $14 r
[]1 [ = ] § 1| L
[]] | [
S 8 d ;
N~———" % 10
2-¢5 “ L7] IS
75.7 I %.1 18
" A-A




MAPS

Accessories

© AUTOMATIC CONNECTOR

Automatic Connector
Description:

e  To connect two aluminium profiles fast and solid

e Assembly without machining Self-cutting thread

Material: Zinc plated steel

Remark Part No: A B C D E
iy | For PS40 | PS40-AC-M12 M12 40 31 M6 6.5
m A | < For PS45 | PS45-AC-M12 M12 45 47 M6 6.6

© PROFILE JOINT

Profile Joint

Description:

. End to end connection for two PS40 profile

Material: Zinc plated steel

45M8 Order No. PS40-JOINT-8

7.8 |}
159 |18

180

10



MAPS

Accessories

© GUSSET ELEMENT 20 x 20

Material: Pressure Die-Cast Aluminium
N Weight:  15¢g

For simple, right angled and power-lock
-~ connection.

g

=

=

A3
1t

Used with button head screw M4x8+flat
washer and rhombus nut PS20-RN4-6
| "’l or half round nut PS20-HRN4-6 for
= PS20 series profiles.

Order No. PS20-GE20x20-6

© GUSSET ELEMENT 20 x 28

4 Material: Pressure Die-Cast Aluminium
& T o Weight:  15g
=i i o
i md v | }“ For simple, right angled and power-lock connection.

15

Used with button head screw M6x12 and rhombus nut
a5 _ PS30-RN6-8 or half round nut PS30-HRN6-8 for PS30
series profiles.

il
)
& 7|L E
kL _!_—I;‘T_
! Order No. PS30-GE20x28-8
© GUSSET ELEMENT 40 x 40
185 gl Material: Pressure Die-Cast Aluminium
® [ Weight: 429
D = 9 For simple, right angled and power-lock
wt ; — connection.
& i
= 12
T ,:l Used with hammer head screw PS40-
E _gl HHS8x20-8 for PS40 and PS80 series profiles.
g3 |
o= S
ot
34
40

Order No. PS40-GE40x40-8

11



MAPS

Accessories

© GUSSET ELEMENT 43 x 42

Material: Pressure Die-Cast Aluminium
Weight: 61g

DiaBz2
103 \ o . , 5 .
; 1—-—- "’l For simple, right angled and power-lock connection.
w
Cl% I Used with hammer head screw PS45-HH8x25-10 for
J JL— = PS45, PS60 and PS90 profiles.
[FHI1] L
LT il i
| 43 | 42
Order No. PS45-GE43x42-10
© GUSSET ELEMENT 40 x 80
Material: Pressure Die-Cast Aluminium
38 Weight: 90g
6 19
_"_J"’ 1 For simple, right angled and power-lock
T Bl connection.
f .)‘gfw
3 o |
M J‘+¢9X23 Used with hammer head screw PS40-HHS8x20-8
Ji T i ‘ for PS40 and PS80 profiles.
T T o)
80
Order No. PS40-GE40x80-8
© GUSSET ELEMENT 42 x 88
Material: Pressure Die-Cast Aluminium
42 Weight: 153g
M g 2
=: 1 G s For simple, right angled and power-lock connection.
8 i g Lo9x32 Used with hammer head screw PS45-HHS8x25-10
— for PS45, PS60 and PS90 profiles.
L Le

12

Order No. PS45-GE42x88-10



MAPS

Accessories

© 80x80 Bracket

T Material: Pressure Die-Cast Aluminium
7 it L1922 D T Aluminium Weight:  205g
8 0 0
I:] [] To connect two aluminum profiles
2 [:] [] or panels at right angles.
o\ o)

Order No. PS80-GE80x80-8

© 90x90 Bracket

]

Material: Pressure Die-Cast Aluminium
- -
Aluminium Weight:  325¢g

To connect two aluminum profiles
g B or panels at right angles.

Order No. PS90-GE90x90-10

© GUSSET ELEMENT 4040 no pin

Wi

Material: Pressure Die-Cast Aluminium
Weight:  45¢g

For simple, right angled and power-lock
connection.

Used with hammer head screw PS40-
HHS8x20-8 for PS40 and PS80 series profiles.

Order No. PS40-GE1215

27 48
m

J F 0] . ,l ; : ‘]
f e
I

L 4 = e 2
| U
! n

o 26 1l

13



MAPS

Accessories

© HAMMER HEAD SCREW M8x20

Material: Zinc Plated Steel
( % Weight: 11g
Supplied with flange nut M8 (size 12)

To fasten Gusset Elements
PS40-GE40x40 ; PS40-GE40x80

Order No : PS40-HHS8x20-8

Material: Zinc Plated Steel
Weight: 13 g
Supplied with flange nut M8 (size 13)

To fasten Gusset Elements
PS45-GE43x42 ; PS45-GE42x88

Order No : PS45-HHS8x25-10

14



MAPS

Accessories

© 45 DEGREE ANGLE BRACKET

© PIVOT JOINT 40 x 60

Material: Die-cast Alu

Weight: 87 g
For simple, 45 degree and power-
lock connection.

Used with socket cap screw M8x30
For PS40 series profile.

Order No: PS40-AB45-8

30.1

15

Material: Die-cast zinc

Weight: 190 g

For simple, flexible angle and
power-lock connection

Used with socket cap screw M8x30
For PS40 series profile

Order No. PS40-PJ40x60-8

Pivot Joint with Handle
Order No, PS40 - 3005C8



MAPS

Accessories

© PIVOT JOINT 45 x 60

Material: Die-cast zinc

Weight: 190 g

For simple, flexible angle and
power-lock connection

Used with socket cap screw M8x30
For PS45 series profile

Order No : PS45-PJ45x60-10

Pivot Joint with Handle
Order No : PS45-3005C10

16

Material: Steel / Class 10.9
Finishing: Zinc Yellow

Order No. PS45-ST-M12, 1.5



MAPS

Accessories

© Pivot Joint 30x45

© Corner Joint with Cover

Material: Die-Cast

Zinc Weight: 118g

For simple, flexible angle and power-
lock connection.

*Note
Maximum Screw Size M6 Cap Head.

Order No. PS30-PJ30X45-8

5.0
E )
N
H
1] Ol 0

i % §
30

17

Corner Joint
Material: Die Cast Aluminium
Weight: 83 g

To connect up to three aluminium profiles at
right angles.

Cover

Material: Polyamide To cover Corner Joint.
Weight: 8g

Order No : PS40-CRJOINT8



MAPS

Accessories

©  SELF-TAPPING, BUTTON HEAD SCREW 12x30

012
|
I
$12%1.5

Material: Zinc Plated Steel
Weight: 27g

For simple, right angled and power-lock
connection.

Used for PS45,PS60 and PS90 series profiles.

Order No. PS45-BHST-10
®18. 5

T50

9.2

M12 =

18

Material: Zinc Plated Steel
Weight: 27g

For simple, right angled and power-lock
connection.

Used for PS45, PS60 and PS90 series profiles.

Order No. PS45-BH12x30-10

I <l



MAPS

Accessories

© RHOMBUS NUT/T SLOT NUT

Material: Zinc Plated Steel
Weight:  3g, 49, 59, 79

Description:
To fasten components to profiles.

(& |
Order No Size
PS20-RN3-6 M3
T | ) PS20-RN4-6 M4
j:/ il
1.2 =1 |=—
6.2 7.9
E23
f\ | | | Order No Size
— ) . PS30-RN4-8 M4
T =~ ) PS30-RN5-8 M5
M lH | | PS30-RN6-8 M6
15 = |=—
8.5 7.9
E23
f\ | | | Order No Size
— . PS40-RN4-8 M4
T &~ ) PS40-RN5-8 M5
‘l:/ \Ii| | | PS40-RN6-8 M6
3.0 = =
8.5 9.9
m
f\ | | | Order No Size

PS45-RN4-10 M4
PS45-RN5-10 M5
\U| | | PS45-RN6-10 M6

PS45-RN8-10 M8

20
9.9
N

35 =1 =

19



MAPS

Accessories

© HALF ROUND NUT, SLOT 6; SLOT 8

Material: Zinc Plated Steel
Nut with spring loaded ball

Weight:  2g, 7g, 99

3 Part No Size
1o PS20-HRNS4-6 M4
= PS20-HRNS5-6 M5
St
g 6
8.5
£
~ Part No Size
~ PS30-HRNS5-8 M5
= PS30-HRNS6-8 M6
PS30-HRNS8-8 M8
Sl
= 8
11.3
(&
- Part No Size
PS40-HRNS4-8 M4
N PS40-HRNS5-8 M5
PS40-HRNS6-8 M6
PS40-HRNS8-8 M8

7
—

133

20



MAPS

Accessories

© HALF ROUND NUT, SLOT 10

Material: Zinc Plated Steel

Used for PS45, PS60 and PS90 series profiles.

Weigh: 10g
[ <lb |
Part No Size
PS45-HRNS6-10 M6
PS45-HRNS8-10 M8
15

22

10

15

21

7.50




MAPS

Accessories

© HINGE 20 X 20

40 - )
‘ 20 Material: Polyamide
f i N Weight: 12g
OO
35 19 Used for PS20 series profile
@ @ Used with C'sunk screw M4x10 + Rhombus Nut
45 . g PS20-RN4-6 or Half Round Nut PS20-HRNS4-6

@ Order No. PS20-H35x40-6
© HINGE 30 X 30
50 . .
30 Material: Polyamide
= -
f ) Weight: 229
OO
40 20 Used for PS30 series profile
@ @ Used with C'sunk screw M6x16 + Rhombus
A\ 4
6.6 Nut PS30-RN6-8 or Half Round Nut PS30-

HRNS6-8

Order No. PS30-H40x50-8

© HINGE 40 X 40

60 Material: Polyamide
| 40

1 ‘ ) Weight: 28g

OO

45 25 Used for PS40 and PS80 series profile
@ @ Used with C'sunk screw M6x18 + Rhombus
Yy g Nut PS40-RN6-8 or Half Round Nut PS40-
HRNS6-8
= @“'ﬁ — [ 8
A\

Order No. PS40-H45x60-8

22



MAPS

Accessories

© HINGE 45 x 45

70 Material: Polyamide
| 45
7 : N .
Weight: 43
OO e
50 30 Used for PS45, PS60

@ @ and PS90 series profile

A\ 7
6.6 Used with C'sunk screw M6x18 + Rhombus

Nut PS45-RN6-10 or Half Round Nut
PS45-HRNS6-10

Order No. PS45-H50x70-10

© LIGHT DUTY DETACHABLE HINGE 40 x 40

2y 5 (2 ) Material: Polyamide
O FO|-= |
; \ b Weight: 25¢g
an 1 4] o)
Used for PS40 series profiles
:g Used with Countersunk screw M6x16+
Rhombus Nut PS40-RN6-8
o or Half Round Nut PS40-HRNS6-8
0
p L for left side mounting
o R for right side mounting
8 06.4

-
@ TIJ ’J @ Right Hinge
. 4 Order No : PS40-RH60x32-8

' i [
@ @ Left Hinge
o Order No : PS40-LH60X32-8

23



MAPS

Accessories

© HINGE 68 x 48

Material: Nylon PA

! X
©+-+© o & Weight: 399
Qe o
@ @ - i ves UseFJ to hinge.panels or all.Jminium
profiles 30 series to 40 series
17.5 | 2255
29.5 38.5 Order No. PS30-H68x48-8
© METAL HINGE
C
\ Material: Die-cast zinc
@ @ Black Powder Coated
Weight: 1159
A — -+ D
@ O Used for general purpose
B

Ed (\—/I@ N~

|

F
Part No A B (o D E F
PS-MH59x59 59 59 35 36 7.3 6.2
PS-MH49x49 49 49 30 30 5.5 6.6
PS-MH39x39 39 39 24 24 5 5.5
© ALU HINGE 40 X 40
60
41 Material: Aluminium,
ﬁ ‘ Colour : Clear Anodized
O)! @ 37
4 |25 Used for PS40 series profile

Order No. PS40-AH42x60-8

24



MAPS

Accessories

© MULTI BLOCK M6 + SPACER

12

14

25

A\f-I\A\
A ! Y n
' o~
- _|_ -
18.5
18.5
O <?» O "
! (o]
- + -
18.5
wn
N

Material: Nylon PA
Weight: 8g

Used for PS30 series profile.
Thread M6

Order No : PS30-MB6-8
Order No : PS-MBS3-8/10 (spacer)

Material: Nylon PA

Weight: 10.5g

Used for PS40 series profile.
Thread M6

Order No : PS40-MB6-8
Order No : PS-MBS3-8/10 (spacer)

Material: Nylon PA
Weight: 10.5¢g

Used for PS45 series profile.
Thread M6

Order No : PS45-MB6-10
Order No : PS-MBS3-8/10 (spacer)




MAPS

Accessories

© MAGNETIC LOCK

S
]

Material: Polyamide Magnetic
Weight: 35¢g

Locking device for doors

Used for all series profiles

20

\ ¥ 8.8 Order No : PS-ML6-8/10

© Cable Clip

&

Weight:  2g

(\ Material: Nylon

5.1

To secure cables to aluminum profiles.

5.1 $10.2

Bp=sqE

22.4

Order No: PS-UCBB

26



MAPS

Accessories

© DOUBLE BALL CATCH

Material: Polyamide
Weight: 449

Used for all series profiles.

Order No. PS-3006G

|

18.75 25.5

6.5

40

0 00 0
}

27



MAPS

Accessories

© BLACK STRIP 6mm, 8mm, 10mm

7427 Material: PVC
. Extrude Colour: Black
6mm { Standard Length: 2 m
; 6mm, PS20 Series profile.
Order No : PS20-BS2000-6
102
_
8mm, PS30, PS40 and PS80 series
8mm 3¢ { profiles. Order No : PS40-BS2000-8
8.2

T% 10mm, PS45,PS60 and PS90 series profiles.

10mm S

{ Order No : PS45-BS2000-10

Material: PVC Extrude

r% Colour : Grey

8mm 2 “{ Standard Length : 2 m

8mm, PS30 and PS40 series profiles.

8.2
Order No : PS40-GS2000-8
© INDUSTRIAL HANDLE M6, M8
M6 Material: Polyamide
- Colour:  Black
Weight: 25¢g,35¢g
I 102 |
86
[ i

Order No : PS20/30-1H6-6

®

6.5

M8

_——
41

137

117

Order No : PS-LH8-8/10

©
ol

8.5

28



MAPS

Accessories

© Tool Slider with Snap Hook

Material: Nylon Black (Tool Slider)
Zinc Plated Steel (Snap Hook)

Weight:  0.01 kg (Tool Slider)
0.03 kg (Snap Hook)

A B Order No A B c
! | o PS-TS16x60-8/10 65 16 5.8
PS30-TS14X60-8] go 13.8 3.8

35.8

© Panel Seal Slot 8, Slot 10

Material: Plastic TPE
Colour: Black

PS40 : Panel 4-6mm
PS45 : Panel 6-8mm

‘

4.7

14

Order No : PS40/45-RUS

Length increments of one meter

29



MAPS

Accessories

© END CAP

Material: Polyamide

End cover of profile.
<

Part No A B
PS20-EC20x20-6 20 20
PS30-EC30x30-8 30 30
PS40-EC40x40-8 40 40
PS45-EC45x45-10 45 45
PS45-EC45x60-10 45 60
! <

PS60-EC60x60-10 60 60
PS80-EC80x80-8 80 80
PS90-EC90x90-10 90 90

Part No A B
PS20-EC20x40-6 20 40
PS30-EC30x60-8 30 60
PS40-EC40x80-8 40 80

PS45-EC45x90-10 45 90

Part No A B
PS40-EC40x40CR-8 40 40

30



MAPS

Accessories

© LEVELLING FOOT, SWIVEL

=== Threaded
Rod

= P|gstic
Base

18.3 Material: Nylon PA
Colour:  Black
Foot Mount Plastic Base and Rubber Pad

Order No D

k PS.FPR40 | 40
215 PS-FPR50 | 50

$80
$68

30

—— PS-FPR80 80
@D N 7; zl
Material: Zinc Plated Steel
Ball Joint Swivelling +/- 20 deg
Foot Mount Threaded Rod
25 Order No M L SW Max Load (kg)
SR - 0= PS-TR8X80 | M8 80 14 300
\%E PS-TR12X100 | M12 100 14 700
SW L PS-TR16X160 | M16 150 17 1300

31



MAPS

Accessories

© LEVELLING FOOT, M20

M20xP2.5 Material: Steel, Finishing Ni
Polyurethane Pad

Max Load 1200 Kg/4ea

180

213

h
-
3

|
|
|
|
|
| Order No. NS72XM20X180
|
|
|
|
|

20

@12

© FLOOR BRACKET

Material: Die-cast Zinc

Weight: 208 g

Surface: Black Powder Coated

Order No : PS-FB40x168-8/10

18.5

® 8.5

Ve
\

oD
A\

160

-

40 - 00 10.9

A
|

32



WI-40

(LIGHT DUTY PURPOSE)

* TOP PLATE FP : Press Steel F : Ferged Steel

(Dimensiens) (Unit : mm)

WI-40FP

Bearing Cover Bearing Cover

M8TAP DP12
M12 BY ORDER

(Specificatien)

o (Lead/ unit) : 50ke/EA

o (Recemmended) : 100kg/4EA

o (Net Weight) : F-TYPE - 0.38ke /S-TYPE - 0.37k ¢
o (Temperature range) : =10 ~ +90C

(Material)
NO PARTS MATERIALS ~ TREATMENTS NO PARTS MATERIALS  TREATMENTS
1 TOP PLATE 2;'1(530& Zn Galvanized 5 Leveller(M8) SM45C Zn Galvanized
2 BALL STB2 Ni-Cr 6 FOOT N.B.R Black

Pewder Ceated Zn Galvanized
FRAME PIN

3 ADCS8 VORY 7 SM45C (34)
4 HANDLE ABS Red 8 WHEEL NYLON-6 Black

\_ NYLON-6 J U

x WHEEL : Pelyurethane, Mc—Nylen by erder



(LIGHT DUTY PURPOSE)

WI-60S
* TOP PLATE FP : Press Steel F : Ferged Steel
(Dimensiens) (Unit : mm)
WI-60FP(F) - WI-608
ot Bearing Cover 26 37.5 Bearing Cover
205 375 245
fo o) 3 T
. \&/‘V% 2 . / =\ E
iEER@) JE o |
éOOK—J%Q
< \ ol =]
\CD l L : G%/ =) o

58 ‘ M12TAP DP15
—  4-@6.7HOLE 6 M16 BY ORDER
-« 73 .| 4@87HOLE BY ORDER

(Specification)

o (Lead/ unit) : 250ke/EA

o (Recemmended) : 500kg/4EA

® (Net Weight) : F-TYPE — 0.77k ¢ /S-TYPE - 0.63k ¢
e (Temperature range) : =10 ~+90C

(Material)
NO PARTS MATERIALS  TREATMENTS NO PARTS MATERIALS  TREATMENTS
TOP PLATE SPHC & Zn Galvanized(3+) Zn Galvanized
Leveller(M10)
! SM45C £ SLERE (34)
Ni-Cr
2 BALL STB2 6 FOOT N.B.R Black
Pewder Ceated Zn Galvanized
FRAME PIN
3 ADCS8 Ve 7 SM45C (34)
ABS
4 HANDLE Red 8 WHEEL NYLON-6 Black
\ NYLON-6 ) U J

% WHEEL : Pelyurethane, Mc—Nylen oy erder




(Dimensiens)

WI-80FP(F)

4-@9 HOLE

(MEDIUM DUTY PURPOSE) v v I B 8 O

Bearing Cover

45.5 ‘

* TOP PLATE FP : Press Steel

88

34.2
30

WI-80S

F @ Ferged Steel

(Unit : mm)

Bearing Cover

(O @) R P
LM
Q S & 9 g 245 .
7,
ék Q > S
Q> L o
O o)
- = \ M12TAP DP15
90 M16 BY ORDER
(Specification)
o (Lead/ unit) : 500ke/EA
o (Recemmended) : 1,000kg/4EA
o (Net Weight) : F-TYPE - 1.40ke / S-TYPE — 1.19k ¢
e (Temperature rang e) : —10 ~+90C
(Material)
NO PARTS MATERIALS  1REATMENTS NO PARTS MATERIALS  TREATMENTS
‘ TOP PLATE | guuc™ | n Galvanized® s | tevellerMi2 | gyasc | zn Galvanized®)
2 BALL STB2 At 6 FoOT N.B.R Black
Pewder Ceated PIN Zn Galvanized
3 FRAME ADC8 il 7 SM45C (34)
4 HANDLE HED Red 8 WHEEL NYLON-6 Black
\ NYLON-6 ) J

x WHEEL : Pelyurethane, Mc—Nylen oy erder

35



U v I 1 O O(MEDIUM DUTY PURPOSE)

WI-100S
* TOP PLATE FP : Press Steel F : Ferged Steel
(Dimensiens) (Unit : mm)
648 WI-100FP(F) , WI-100S Bearing €
36 5 Bearing Cover 648 5 earing Cover
32, 36
4-@11 HOLE ‘ 32
| ~ T 1
o J 2
2 T ~ ; 3
5 | e %{9 N~ :
&= & &= Qo &)
O £ ;
Q LN
Chan®) = = ,
70 M16TAP DP16
95 67
(Specificatien)
o (Lead/ unit) : 750ke/EA
o (Recemmended) : 1,500ke¢/4EA
o (Net Weight) : F-TYPE - 1.84k ¢ / S-TYPE - 1.56ke
o (Temperature range) : =10 ~ +90°C
(Material)
NO PARTS MATERIALS ~ TREATMENTS NO PARTS MATERIALS ~ TREATMENTS
1 TOP PLATE gmgc& Zn Galvanized(34) 5 LevellerM12) |  SM45C | Zn Galvanized(3)
2 BALL STB2 Ni-Cr 6 FOOT N.B.R Black
3 FRAME ADCS Pewder Ceated 7 PIN SM45C | Zn Galvanized(3+)
IVORY
ABS
g 4 HANDLE NYLON6 Red )L Black

x WHEEL : Pelyurethane, Mc—Nylen oy erder




WI-120

MEDIUM DUTY PURPOSE)

WI-120FP
* TOP PLATE FP : Press Steel F : Ferged Steel
(Dimensiens) (Unit : mm)
1006 WI-120FP(F) 1005 WI-120S Bearing Cover

65.4

Bearing Cover
4-@11 HOLE
S = / G
CISEE - (
(Specificatien)
o (Lead/ unit) : 1,000ke/EA
o (Recemmended) : 2,000kg/4EA
® (Net Weight) : F-TYPE — 1.95ke / S-TYPE — 1.69k ¢
e (Temperature range) : =10 ~+90C
(Material)
NO PARTS MATERIALS  ocATMENTS NO PARTS MATERIALS  TREATMENTS
1 ol plans OORE & | 70 Cekant e 5 Leveller(M16) | SUS304 Natural
SM45C
2 BALL STB2 Ni-Cr 6 FOOT ADC8 Black
3 FRAME ADCS8 Pewder Ceated 7 PIN SM45C Zn Galvanized
VORY
4 NUT SMa5C Zn Galvanized Black
\_ (3+) ) U

% WHEEL : Pelyurethane, Mc—Nylen oy erder



U v I 1 5 O (ULDTRA HEAVY DUTY PURPOSE)

(Dimensiens)

(Unit : mm)

4-313 HOLE WI-150F Bearing Cover

(Specificatien)

o (Lead/ unit) : 1,500ke/EA

o (Recemmended) : 3,000ke/4EA

o (Net Weight) : F-TYPE - 3.37k ¢

o (Temperature range) : =10 ~+90C

(Material)
NO PARTS MATERIALS TREATMENTS \[0] PARTS MATERIALS TREATMENTS
1 TOP PLATE SM45C Zn Galvanized(3+) 5 Leveller(M20) |  suS304 Natural
2 BALL STB2 Ni=Cr 6 FOOT ADC8 Black
3 FRAME ADCS Powt\j/ec;R(\:(oated 7 PIN SM45C Zn Ga(gvznized
S 4 NUT SM45C Zn Galvanized N 8 WHEEL MC NYLON Sky Blue




KL Office:

No.8,JalanTPM 1,Taman Perindustrian
Meranti Jaya 47120 Puchong, Selangor
D.E. Malaysia

Tel :(+60) 3 - 8066 6382
Email : jeffreyneoh@aimsagile.com

=% AIMS AGILE

Y FACTORY AUTOMATION
o

/A

_ B 5‘ . o
A_Gl_LE SMART F&CTURIL‘IG
- N’t.PROVIDER‘ |
o ‘ - | .

—
PROCESS PLANT
CONTROL AUTOMATION MONITORING

Melaka Office:
No. 37, Jalan Berkat 16, Malim Jaya
Industrial Park, 75250, Malacca, Malaysia

Tel : (+60) 6 - 3341 732
Email : jksuah@aimsagile.com

Edition Jan 2023



	1. 1 Profile
	1.2 Sensor Rail
	2.1 Joint_ SFJ ; UJ
	2.2 Connector, UC & AC
	3.1 Gusset Element
	3.2 Hammer Head Screws
	3.3 Bracket 45, Pivot Joint
	3.4 Corner Joint with cover
	3.5 BH screw -10
	4.1 Rhombus Nut
	4.2 Half Round Nut_-6,-8
	4.3 Half Round Nut -10
	5.1 Hinges
	5.2 Multi Block
	5.3 Magnectic Lock
	6.1 Black Strip & Handle
	6.2 U strip , Tool Slider
	6.3 End Cap
	7.1 Levelling Foot
	7.2 Floor Bracket
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	PS pictures, 080416.pdf
	PS picture, 080416
	PS picture2, 080416

	Untitled



